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• Development

• Proposition

• Support

• Focus

• Quantitative information



• Support:

• Adding, revising, or retaining material that 
supports a passage’s points or claims



• Support——论据支持：

• 1. 论据，即evidence，其作用在于用来支持观点
• 2. 判断何种论据支持了何种观点



• 方法论：

• 1. 审清题干：
• 分析题干指令词和位置词，寻找论点
• 2. 判断中心：
• 准确理解并有效概括需要添加支持句的句子或者段落的
中心思想

• 3. 观察选项：
• 准确理解选项的表意，并判断表意的侧重点
• 4. 答案配对：
• 评估论据和被支持句/段的相关性



• 出题形式：

• Which of the following supports the 
statements in the paragraph ?
• Which choice provides a second supporting 

example similar to the first example in the 
sentence?
• Which choice most effectively sets up the 

examples given at the end of the sentence? 



• To address the problem of disposal, farmers have found a 
number of uses for acid whey. They can add it to livestock feed 
as a protein supplement, and people can make their own 
Greek-style yogurt at home by straining regular yogurt.

• Which choice provides the most relevant detail? 

• A) NO CHANGE

• B) supplement and convert it into gas to use as fuel in 
electricity production. 

• C) supplement, while sweet whey is more desirable as a food 
additive for humans.

• D) supplement, which provides an important element of their 
diet.



• The rooms and their furnishings were painstakingly created to 
scale at 1/12th their actual size, so that one inch （英寸）in the 
exhibit correlates with one foot in real life. A couch, for 
example, is seven inches long, and that is based on a seven-
foot-long couch. 

• Which choice gives a second supporting example that is most 
similar to the example already in the sentence?

• A) NO CHANGE
• B) a tea cup is about a quarter of an inch.
• C) there are even tiny cushions on some.
• D) household items are also on this scale.



• Employees who feel less than 100 percent and are sleep 
deprived are also less prone work at their maximal 
productivity. One company in California gained a huge 
boost in its employees’morale when it moved from an 
artificially lit distribution facility to one with natural 
illumination.

• Which choice best supports the statement made in the 
previous sentence ?

• A) NO CHANGE 

• B) saw a 5 percent increase in productivity

• C) saved a great deal on its operational costs

• D) invested large amounts of time and capital
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